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1. A Hk=8H 600 600 0
6.[fFr1+Ad &7 23 748 748 0
1. dRH=8H 748 748 0
7[R A gy 383 428 -45
1. dRH=8H 383 428 -45 | FAZAFE 0 -11,0009#43] = -44,000
A7) A RS 1 -1,2009%14] = -1,000
2. A AH A 65,867 67,762 -1,895
1. 8F AL A H] 6% 65,867 67,762 -1,895
1LIx]TT8aTLAATdH 29,592 31,470|  -1,878
1. dRH=8H 600 600 0
2. 47185 20,176| 22,054 -1,878| A7 F : -1,878,0009+1Y = -1,878,000
3.3 rER 2,500 2,500 0
4.71E}EFRH 6,316 6,316 0
2. (]88 900 900 0
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2.¢npn] 500 500 0
1. oB)n) 500 500 0

1. [Z]H]H) 500 500 0

1.eH)H] 500 500 0
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